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subprogram Ci:

1) NXT
2) JMP
3) JMP
4) DEC
5) JMP

6) INC

subprogram C;:

1) JMP
2) EXT
3) JMP
4) JMP
5) DEC

6) INC
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subprogram Ci:

1) NXT
2) NXT
3) JMP
4) DEC
5) DEC

6) INC

subprogram C:

1) NXT
2) JMP
3) JMP
4) DEC
5) JMP

6) INC

subprogram Cjs:

1) JMP
2) EXT
3) JMP
4) JMP
5) DEC

6) INC
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subprogram Ci:

1) JMP
2) NXT
3) JMP
4) JMP
5) DEC

6) INC

subprogram C:

1) EXT

2) NXT

subprogram Cj:

1) NXT

2) JMP

3) NXT
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4) DEC
5) INC

6) DEC

subprogram Cy:

1) JMP
2) JMP
3) NXT
4) INC
5) JMP

6) DEC
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subprogram Ci:
1) EXT

2) NXT
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subprogram C:

subprogram Cs:

1) JMP

DO

NXT

3) JMP

N
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EC
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NC

7) JMP
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) JMP
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9) INC

subprogram Cjy:
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